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Activity 2031 : Define Essential Use Cases
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Use case 1. Set Time
Actor User
Type Evident

Pre-Requisites

SN Al A 2] AE= Time Keeping A EH O Of $HC}.

Typical Courses of Events

(A) : Actor, (S) : System

1. (A):AHEZ &2 SetSectionz = 0{7ILC},
(world-year-month-day-hour-minute-sec )

2. (A):BHES =& ¢t=, 0|7, &=, &=, A0, d7[F =22 Fo{7irt &=
= DHES =8f o=, d7IE, Ao, &=, G=, 0|7 =22 O0{¢tCh BHES
Ao =2 DHER FIZ)/B&DHES =8 section0| XA SZ LY.

3. (A):CHEZ =2 Time Keeping EEZ SO0I7}7| & &L}

4. (S): Time Keeping ZE 2 =O0}ZtCL,

\&

2/

3
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Alternative courses of events

Al.

2t A-YSHO M C HES 28 Timekeeping 2EZ SOFZICH

Exceptional courses of events

El.

E2.

E3.

E4.

ES.

EG6.

yearzf0| 2100 & ], B HHEZ =2 S7tAI7|H 20000| = Ct.
2000 & [, D HES =28 d24A|7|H 21000 =T}
monthzt0] 12 & I, B HES =2 37tAIZ|H 1 0] =ICt,
120 D mE -F _+_A|9|D1 12 0| EIC},

day2t0| month 2£0f 2t 30,31 € [, B tH 2 =2 37HAZ7|H 1 0] =L},
month 2{0f 2t 1 Y I, D HES 531 ZAAN|7|™ 30,31 0] =IC}

hourgtO| 24H € I, B HES =2 37tA|7|™ 1H O] =IC},
IHY I, DHES 2] ZAA|7|H 24H O| =IC}

minuteZt0] 59 & [}, BHE 531 Z7tA|7|™ 0 O] =ICt,
0 & I, D HES =2 daA|7|H 59 O] EICH

second?t0| 59 € I, BHE S =& 7=7H\|9'|':31 0 O| =Ct,
02 M, DHESZ =2 Z2AA|7|H 59 O =Lt

&

3
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Use Case 2. Change mode
Actor User
Type Evident

Pre requisites

2k MefEl B o K Q) ALE|OfOf ShTY,

Typical courses of events

(A) : Actor, (S) : System

1. (A) User’l C HHES FECL.

oo

(S) changeMode()& = & $HC.

2. (S) display(selectedSwi+1])2 S Z3IC}.(i= S|

2-1. Timekeeping
(S) display(currentTime) & = Z oL}
-

(S) display(alarmindicator)E = = 3tC},
(S) display(country[i]) & 2 &= STt

2-2 Stopwatch
(S) stopwatchTime#H =7}2 2QIHCL,
(S) display(stopwatchTime)E 2 = ¢tC

\&

>




\S

7 M)
Typical courses of events
2-3 Timer 2-4 Alarm
(S) timerTime B4t 2 é.“?_'?_“:f (S) Y& =F0 20| HY 0 A=A| =elstrt,
(S) display(timerTime)2 2 =2tCt. (S) display(alarmArray[0]) = =& PHC}.
(S) d|splay(seIectedSwMode[l])% D=0t} (S) display(selectedSwModeli)) £ 3 EoHL
(S) display(currentTime)2 S =3tCt. (S) display(currentTime)S S =3tC},
. 2-6 Brightness Control
2-5 World time . ) -
S =3} I:ﬂ ATHS &)
(S) display(countryTime[0]) & S8+, é?%ﬂghmess’ brightLevel =5-a(= =
(S) display(countryName[O])% k=i-—Yoiul g = o
(S) display(currentTime)2 =T}, 6(}Slgrd|S|C>Iay(seIectedSwMode[l]) =S 2=
(S) display(brightLevel) §%+F b,
(S) display(brightness)= 2 = tCt.
(S) display(currentTime)S S =tCt,
Alternative courses of N/A
events
Exceptional courses of El. selectedSw[]2| QIEHIA HR|E Z1ISHA &™), display(selectedSw[0]) & Z &Lt
svents E2. MYE0f ol A0l g8 M, Y RE2 Y A, 1. - B EHCL
7
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Use Case 3. Stop ringing
Actor User
Type Evident

Pre requisites

2 E= EO|MZt S2[1 A= HEO{OFBCt.

Typical courses of events

(A) : Actor, (S) : System

1. (A) ringO| =& [f, User= OtF HE(A, B, C, D H{E)0|Lt =ELF.

oot
LS AN 2

2. (S) ring0| S 2l X| 32=7} X|LtX|
2 HZASLY ringS "L

M, user?| 70| =0 2™ onOff

LS false

Alternative courses of events Al.ring0| 2 EIX| 37} X|GH2 ], onOff 4L 2 false2 HAESI D AHSHOE ring2 BE
Ct.
Exceptional courses of events N/A

—_—

2/
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Use Case 4. Start stopwatch
Actor User
Type Evident

Pre requisites

1. Stopwatch (STW) 2. X Q0| MEHE|0{0f ST},
2. XY Stopwatch 7t K| A E{0fOF BHLC},

Typical courses of events

(A) : Actor, (S) : System

1. (A) User?} B(start) HH ES F+ELC}.

2. (S) stopwatchTime 2{0| 22 0.01 £H¥| 2 S7tetCt.

Alternative courses of events

N/A

Exceptional courses of events

N/A

\S
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Use Case 5. Stop stopwatch
Actor User
Type Evident

Pre requisites

Stopwatch (STW) 2 & ZI 10| M3H [0 OF SHCF,

X Stopwatch 7} ZI8 & 0| O{OF BHCF,

Typical courses of events

(A) : Actor, (S) : System
1. (A) User?} B(stop) HE S +2C}.

2.(S) &M 2FHKXIE LAl EX[AIZILE,

Alternative courses of events

N/A

Exceptional courses of events

N/A

\S




Use Case 6. Reset stopwatch
Actor User
Type Evident

Pre requisites

Stopwatch (STW) 2 E T Q10| M3 &|0f Of ST},

&% Stopwatch 7F = X| AMEf O Of L},

Typical courses of events

(A) : Actor, (S) : System
1. (A) UserZf D(reset) HE S F 2L},

2.(S) S AEQK|Q| AlZHS 00& 00 002 2 X 7|3}stCt

Alternative courses of events

N/A

Exceptional courses of events

AEYX| 7L IS FO|H D(reset) HES 28 & X7|35|X| Y=Lt

\S
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Use Case 7. Lap stopwatch
Actor User
Type Evident

Pre requisites

Stopwatch (STW) 2= ZI /0| M3 z|0{Of siC},

S1XH Stopwatch 7 Tl AHEf O OF SHLCL,

Typical courses of events

(A) : Actor, (S) : System

M
il

1. (A) User?} A(lap) HES +

2. (S) #X| 2AF X9 AIZHS KA BHCE

3.(S) M el 2F /AKX AlZtE EAIBHEL.

Alternative courses of events

N/A

Exceptional courses of events

N/A

S

3




Use Case 8. Select alarm num
Actor User
Type Evident

Pre requisites

Alarm 2E ZI0| MU =[O OF SHC},

Typical courses of events

(A) : Actor, (S) : System

1. (A) User? B(select) HES F2rCt

2.(S)B HE0| =% WOtC}, 4712 L E =tHS =Xt

12

Alternative courses of events

N/A

Exceptional courses of events

N/A
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Use Case 9. Remove alarm num
Actor User
Type Evident

Pre requisites

Alarm 2 E ZI 10| M3 &[0 OF BHC},

Typical courses of events

(A) : Actor, (S) : System
1. (A) UserZt D(remove) HE S F 2Lt
2.(S) MEHE|O] = LEO| AZLE -2 XT|2}otC

3.(S) 2EE0 Y= YEO| St QUCHH, 22 indicatorE OFFE HHELCY,

Alternative courses of events

N/A

Exceptional courses of events

N/A

2/

\&

3
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(FUse Case 10. Set Alarm Time
Actor User
Type Evident
Pre-Requisites User’t = = 4%
Typical courses of events | (A): Actor, (S): System

1. (A) User’t AHHES £ ELC}
(S) hour S22 A& 0|

1.1 (A) User’| BHEZS +EL}
(S) hour H==7}0| S7}tBHLE,
1.2 (A) Usert DHEZ F+

F|HJ

C}.
(S) hour H==7f0| ZHABHICE

[ Y

rot

7tSSHA BhL




(;;

2/

Typical courses of events

2. (A) User?t AHHES F2LL,

(S) Minute 22| 2780[ 755t SHof.
2.1 (A) User?t BHHE S F2C},

(S) minute H==2£0| S7}3HCH
2.2 (A) User’t DHE S F2CLt,

(S) minute H==2{0| ZrABICE

w
N
=
c
wn

@

N
O
O
rim
mjo
r
rn
il

(S) Hour #==gf0| ZrABHCt

4.(A) User’t CHEZ S+EC}

Alternative courses of events

N/A

Exceptional courses of events

- KNS Alarm S 2 E0{22 4 X7 B-E4

{2 0Al 0 2 O|Ct

\S

\3
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Use Case 11. Turn on Alarm
Actor System
Type Hidden

Pre-Requisites

User?} Set alarm time2 WS 22

Typical courses of events

(S): System

1. (S) SystemO{| A User?t A3t TimeS QI X|BHCY,

2. (S) SystemO| A HH3st TimeO| StLtZtE U2 M Alarm indicatorS Z4C}.

Alternative courses of events

N/A

Exceptional courses of events

N/A

\S




7
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Typical courses of events

1. (S) SystemO{| A alarm 4 7§ & StLt2te KLU =X

SystemO| A alarm indicator& L}

Use Case 12.Turn off Alarm
Actor System
Type Hidden
Pre-Requisites N/A
(S): System
solgtCt,

2. (S) Sttt o™
Alternative courses of events N/A
Exceptional courses of events N/A

3
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Use Case 13. Set timer time
Actor User
Type Evident

Pre-Requisites

AF2XH7F mode S TimerM EH 8| OF $HC},

Timer= & X| A Ef O OfF LY,

Typical courses of events

(A): Actor, (S): System
1. (A) User?t AHHE 2 F 2L}

2. (S) enterSetSection()& =& oHCt.

f
3. (S) display()2 2 =5t MEiS FH 2 B O{FELt

4. (A) User/t BHE(+)2 FEC

—_

5. (S) changeValue()2 ==

6. (S) display()2 2=t 7+ 42

2/

3
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Typical courses
of events

7. (A) User’t DHE(-) 2 +ECLt
)

Alternative
courses of events

N/A

Exceptional
courses of events

3




_\\

&

Use Case 14. Start timer
Actor User
Type Evident

Pre-Requisites

AFE X7 TimerE A3 A2Ef O OF St Timere d X[ 4

& Ef O] OF SHCY

Typical courses of events

(A): Actor, (S): System
1. (A) User?} BHE S S+ 2L}
2. (S) SystemO| &7t A|ZHREH 1224 Zh4

3. (S) display()E 2 =5t0 timer A|ZtZ 20

FQl

MHA

Ct.

Ct.

Alternative courses of events

Al. TimerZ} start = 2EJ0| A ModeE &S| = Timer= =07t RLO{OFBHLY,

Exceptional courses of events

E.12Z S92 ¢t0] 00| & B ZdaE Al7|X]

orLr
Lol_

2/

3
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Use Case 15. Stop timer
Actor User
Type Evident

Pre-Requisites

AL X7} TimerE Startsh 2

AEH O OF 8t mode 7} TimerOf|

10{OF B},

Typical courses of events

(A): Actor, (S): System

1. (A) User7} B HES FELC},

2. (S) System2 A[Zt ZAE HELL

3.(S) HE Al7HE2 MEetC

4. (S) display()& Z =3}t

Alternative courses of events

N/A

Exceptional courses of events

N/A

2/

3
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Use Case 16. Reset timer
Actor User
Type Evident

Pre-Requisites

A X7t TimerE X[t AEJ O] OF St mode?f Timerd]| @

10{0F BHC,

Typical courses of events

(A): Actor, (S): System

1. (A)User’t D HHES +

rm

—_

C

2. (S) timer A|ZtZ 7| 2}SHE L.

3. (S) display()S =

ZE510] timer2| A|ZH2 EO0{FLY

Alternative courses of events

N/A

Exceptional courses of events

N/A

2/

3
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Use Case 17. Ringing
Actor System
Type Hidden
Pre-Requisites N/A

Typical courses of
events

(A): Actor, (S): System
1. (S) System M E| U= Alarm2t TimerZt QL =X| = QISHT
2. (S) Btef user”t X|’dt AlarmO| AHXY A| 7+ S LSICHH Ring= = 2L

3.(S) e userZt X|°d ¢t Timer2| A|Z+O| CF Z2-3H0] 00| &I RUEHH Ring=S = 2ICH

Alternative courses of
events

Al. (S) System2 Alarm EE7} Ot A0 M

=
A2. (S) System2 Timer 2 =7} Ot ZR 0| M= A[ZHO] Cf X[t S B2

Y& AZHO| £|lS 4% Ring= SEICt.
R

Exceptional courses of
events

E1. Alarm2t Timer2| RingO| 20| 2% A2 Alarm2| RingO| M A| ZIC},

2/

3
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Use case 18. Change World
Actor User
Type Evident

Pre - requisites

1. Set country AEj 7 M2 |0 OF SHCY,

2. World time(WT) 2 E TIQ 0| M3 |0 OF $tC}.

Typical courses of events

1. (A)BHES =2 =7t HETHL}. (
d7H2)
2. (S)Lte =7t SHSCL

Alternative courses of events

MEh Jps 3 2oHe ASslM 2B

—_

Exceptional courses of events

N/A

2

202 - ¥ -E2-2A0}-

S
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Use case 19. Turn on brightness control

Actor User

Type Evident

Pre - requisites 1. Brightness control (BC) ZE X0 | M | O] OF BHCE,
2. Brightness control (BC) 7| 50| 7%l AE O OFStCY,

Typical courses of events 1. (A) APEAFHES =8| BC 7|52 AL
2. (S)BC 7|50| ON MEH°|7<| 2tolotrt,
3. (S)BC 7|5 OFF Al, ¥17|4t2 level 00| L.
4. (S) BC indicatorE ON &E{ 2 Hp L}

Alternative courses of events N/A

Exceptional courses of events N/A

2

S
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Use case 20. Turn off brightness control

Actor User

Type Evident

Pre - requisites 1. Brightness control (BC) 2= XI Q0| M3l | O{Of StC},
2. Brightness control (BC) 7| 50| 7%l AE{ O OF SHCt,

Typical courses of events 1. (A)HES =2 BC7[s8 &L
2. (S) #7122 level 022 XM ZBILE
3. (S) Default 2t&H &t7| 2 otHES = otrt,
4. (S)BCindicator& OFF &E{{= HHELCL,
Alternative courses of events N/A
Exceptional courses of events N/A

2

S
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Use case 21. Control brightness
Actor User
Type Evident

Pre - requisites

1. Brightness control (BC) 2E ol M x| O OF BtCt,

Brightness control 7|5 0| 7{ % é;*EHO:IOF otLt.

Typical courses of events

(S) display 87| =HotCt,
(A) User?tC I:|'| =2 T
(S) brightLevel2 X &$tC

arhwNE

Alternative courses of events

217| level2 3THA| 7t B E SILEZ &=2HotCY,

Exceptional courses of events

N/A

2

S
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Use case 22. Change brightness
Actor User
Type Hidden

Pre - requisites

Typical courses of events

1. (S) DA R2H &1X) A|ZH 32 It
2. (S) BT AlZH ol mhat SHo| S TR

Alternative courses of events

N/A

Exceptional courses of events

N/A
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Use case 23. Change SW
Actor User
Type Evident

Pre - requisites

current Mode?} TimeKeeping O OF$HC}.

Typical courses of events

mjo
ol
allf
|

1. (A)User?t DHE
2. (S)Sw HZERZ

L
u
r
e
rot
n

3. (A)UserZt BHES F+2L}.

(S) CtS sw ZEZ 3tHO| EA|SHT}
1. (A)User’t AHES FE2Ct

(S) SWE MZotrt,
1. (A)User?t DHHES FE2L}

o
[
Hu
M
_c')_ .
]
im|

(S) TimeKeeping

Alternative courses of events

N/A

Exceptional courses of events

E1. Timekeeping Default 7| 5 22 ChangeSWA| &| 2|

S A
Ll

Ct.

2

S




Activity 2032 : Refine Use Case Diagrams

N
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Actor

Change Mode

\OP Ringing

Set Alarm Time
Change World Remove Alarm Number
Select Alarm Number

)

\S

2/




Activity 2033 : Define Domain Model

N
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«Business Object»
DWS controller

«int[]+-swArray
«ints-currentMode

«Time[l»-alarmArray

«boolzanz-alarmindicator

1 1
+efer
1
0.
«Business Object»
Ring

«pooleans=-onOff

\S

0.1

«Times-currentTime
T

«Business Objecte

TimekeepingMode
«Strings-world
«Datew-curentDate
«Time=-currentTime

0.1

«Business Objects
StopwatchMode
«Time=-currentTime

«Stopwatchtime=-stopwatch
«Stopwatchtime=-laptime

«Business Objects
AlarmMode

1

«Business Ohjects
TimerMode

nipul «Times-currentTime
has «Times+timermime | 577

manipulat

has «Business Objects
WorltimeMode

«Object[»-worldName
«Datex=-worldDate
«Timez-worldTime

0.1

«Business Object»
BrightcontrolMode

«boolean»-brightness
«wintz-brightLevel
«Dates-curreniTime
«Timez-cumrentTime

Stopwatchtime
«int=-5_min
wint»-5_sec
has «int=-5_msec
0.*
has
has Date
wintz-year
«ints-month
«inte-day
has
has
has
0.1
Time
«ints-hour
«ints-minute
«int=-second

N

2/




Activity 2035 : Define System Sequence
Diagrams
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\S

1. Set Time

1. (A):AHEZ =2 Set SectionZ = 0{ZtC},
(world-year-month-day-hour-minute-sec &)

(A):BHES s8] ot=, 0|=, =, &=, &AI0}, 7t

ZE o= Ot E= D HES 58 ot=, Y7HE, gA[0

=, 33, 07 =22 0. BHER2 H2=, DHE

= FI2)//B & D HES =& section0fl XA S&SHC

3. (A):CHEZ =2 Time Keeping ZEZ SO0I7I7|E &

)

A

4. (S):Time Keeping ZEZ FO0t7tCt,

6 : return section

% System

User: Actor
loop ) 1 : enterSetWorld 1
e 2reumword !

loop

3 : selectWorld(B&D Button) Lo
L JLLLLLLL I
: 4 - displaySelectWorld '
5 enterSetSection .
T — U

ID.J,.) T increase&decreaseSection

§ : displaySection

T P T e o CEe e eer Eer e

----- !

T T LTIT LT T s

10 : return exit

_____ u

N

2/




2. Change mode

-

(A) AFEXZ CHEZ FEL.
2. (S) MEi=l 471X| 7| 1=

=
OCRCIE REE HOFL}

[
0

=1
=
=
o

R

Lifelinel: Actor

System

loop

1: changeMode()

e 2 displayMextMode) ﬂ

)

2/




3. Stop ringing
(A) : Actor, (S) : System

1. (A) Beep O] 28 W, At Xl= OFF H %

E0|Lt FEL,
(S) Beep O] A=l X| 327t X| =X
(S) Beep O| A=l X| 37} X|LEX|

AUAS M, ALEXIL] 2HO| F0{2H
Beep= B&=LL.

User: Actor

1 : pressAnyBution

System

2 - return stopRinging

A\

2/




4. Start stopwatch
(A) : Actor, (S) : System

1. (A) User?} B(start) HE 2 F+ELC}.

2.(S) X ASX|7F =2 0.01 £
= Sttt

N

% System

User: Actor
: 1 - startStopwatch()

2 displaystwTima()

2/




5. Stop stopwatch

(A) : Actor, (S) : System

1. (A) User?| B(stop) HE S

2.(S) 8N A2EKE

ZA|

SRIAIZIE.

R

User: Actor

System

1 : stopStopwatchi)

+ELt.

2 displayStwTime()

N

2/




6. Reset stopwatch

(A) : Actor, (S) : System
1. (A) User? D(reset) HE =S F 2L},

2.(S) X A K| AZHS 002 00E
0022 X 7|3}shC},

System

User: Actor
1 : resetStopwatch()
: 2 : displayStwTime(

)

2/




7. Lap stopwatch % System
User: Actor :
(A) : Actor, (S) : System '
. 1 : lapStopwatch() H
1. (A) User7} Alap) HHE S F2L} s 'H
2.(S) HX| AEQK|O| A|ZHS KA .2 isplaylapimeQ)
otCt,

3. () M 2K AlZtE &®
A|BHLY,

)

2/




8. Select alarm num

(A) : Actor, (S) : System
1. (A) User” B(select) HES F 2L}

2.(S)B HE0| =& WOtLY, 4712| &g =t
HE =AH 22 BA[SICL

User: Actor

R

System

loop )}

1 : selectAlarmMum()

2 displayAlarm)

N

2/




% System
9. Remove alarm num ,

User; Actor

(A) : Actor, (S) : System 1 - removeAlarmNum()

1. (A) User?| D(remove

T
rim
mjo
4r
il
inl

2.(S) MEE|0f QUi YBO| AT B X s o A O A
7|3fstet, |

3.(S) B0 Qs LEO| ShLt: QUCHH, &
2} indicatorE OFFZ HfIELCt,

\\

2/




10. Set Alarm Time

(A): Actor, (S): System
1. (A) User’t A ES FELCt

2. (S) SystemO| X{22 SecondZ A|EE|0 =HE JAS
712 =L},

3. (A) Usert AHHES =2 Second, Minute, Hours StLHS

A EH ‘<'5_|-|:|-'

—

5. (A) User?l BHE(+), D
= S7HMZ| AL daA[ZICE

0]
@
x
%
O
>
o
o
2
ik
I3
o
n

:DWS System

2 return

3 : changeValue

4 : return




11. Set timer time

(A): Actor, (S): System

1. (A) User’t AHES F2C}

2. (S) enterSetSection()2 =L AKX MEHO| St= X, 2, AE
3. (S) display()2 2=5t0{ MEiot FHZ HO{FECt.

4. (A) User?t BHE(+)2 +ELL

5. (S) changeValue()2 2 =5t0] MEHGH HO| ZtS SIHA|ZICE
6. (S) display()2 2 &30 S7tE 4t 2 &Lt

7. (A) User/t DH E(-)2 +EL

9. (S) display()& 2=t ZAEl ¢S EOELL
10. (A) User’t CHES +2L}.
11. (S) A2t MZEeot,

12. (S) display()2 2 =50 MY E A|ZtS 2O &L

X

System

User: Actor

1: enterSetSection

2 . displaySelectTime

loop )

3 : changeValue




12. Start timer

(A): Actor, (S): System

1. (A) User’t BHE S £ 2L},

b

=
oy
>
ro

2. (S) SystemO| &7t A|7HRE 1
Ct,

M

3. (S) display()& =2Z510] timer A|ZtS 20
Cf.

X

User: Actor

1 : startTimer

A\

2/




13. Stop timer

(A): Actor, (S): System

1. (A) User?t B HES F+ELL.

B
mjn
0%
i
n

2. (S) System2 A7t Z
3.(S) B& AlZtE M Eetrt

4. (S) display()E 2 E5I0{ &2 Al
2 EOELL

% System

User: Actor

2 : displayStopTime

)

2/




14. Reset timer

(A): Actor, (S): System

1. (A) User?t D HHES FEL}

2. (S) timer A|ZH2 =7

3. (S) display()= =&
HOjFECt

.
o

O] timerQ| A|ZE

X

User: Actor

\\

2/




15. Change World

1. (A)BHES =8| 2712 BAsCL
(@202 - G252 - 2o}
IP/E-

2. (S)CHe =27t2 s

X

System

User: Actor

1 : changeCountry()

2 displayMextCountry()

N

2/




1
2
3.
4

16. Turn on brightness control

. (A) MPEXLHES =8 BC 7|sS WL
. (S)BC 7|59| ON MEH°|7<| 2t QISHCY,

(S) BC 7|5 OFF A|, & ZIS level 00| C}.
. (S) BC indicatorE ON &E{ 2 HpLCt,

R

System

User: Actor

1 : turnOnBC(Button)

3 : turnOnBCIndicator

A\

2/




17. Turn off brightness control

1. (A %% =7 BC 7|58 -C}.
2. (S) 9713t2 level 022 XM H3IC
3. (S) Default 2t™ 87| £ =™
4.

O
= = .
(S) BC indicatorE OFF &}E{{ 2 HFFC},

A

User: Actor

1 : turnOffFBC(Button)

System

LS R M S

3

s turnOffBCIndicator

A\

2/




18.

)

Control brightness

A)HES =2 97 level2 1,2, 3HAZ =
=~ OHZ|-

(S) MEHEI 87| levelS HA|BHCL,

(S) MEH =l BT levelOf 2t 2t BV E =H
oLt

% System

User: Actor

2 . displayBrightness

A\

2/




19.

= N

Change SW

(A) HES s8] dEe sSwE B Fotrt
(stopwatch - alarm - timer - world time -
brightness)

(S) CtE sw 7| s
(S)CtE SW7|s O|ES
(S) tro SW 7|5 HE of
OFFE Z &3t

X

User: Actor

System

loop J

1: changeSW

2 . displaySWMode

3 : selectSW

iteeeslE

4 - displaySWOn/Off




Activity 2038 : Refine System Test Case

N

2/




No

Test &5

Description

Use case

System function

Set Time test

currentState=1% I, AL&Xt2| incorrect?t & 2 0j|

gt

o
[S)

St

=
[

N

HE741970'F Of2H 2 LH2{7t=X|

2 20| 12& 0|2 0f 1E & SOt7H=X|

month 2t0fl %= day 1?7t EE[=X]

Hour®| 20| 24A|Z O|20f| = 12 SO0t7H=X

Minute2| 2£0| 60 O|=0f 0022 EO0}7+H=X|

KOREA O| ™ Lt2} A& A| SINGAPOREZ 7H=X|

KOREA 0|3 LI2} A& A| AMERICAR 7H=X|

== 9| display7t H L2 =X

29| display/t & LI2=X|

29| display?t & L2 £X]|

AlQ| display”Zt & LI £X|

29| display?} & LI2=X|

Set Time

R.1




2 Change mode test

& O|ROfX[=X]|

Change mode

R131

3 Stop ringing test

== M, 227t HX| =X

Et 7|SOIMel HE 7|SEL SUNHLE 7| S5t=X

20| 22 Iff, 3= F{0f &[] AHS22 OFF & =4

Stop ringing

R 132

4 Start stopwatch test

B A AR &l =X

(Stop ZE) LAIFX & SEFOIM T2 ==X

1/100% CHQI2 EH | =X|

HAE £ e HP| (59:59.99) O|&4o 2 ZHO| A&E

Start stopwatch

R 2.1

5 Stop stopwatch test

(+) ALEAZH BRIHES S0l 2EAKXIZFEA| & =X]

() XIHE HE o|go

Yoz AEYK|TH YA HEX

(stop ZE)BHESFEE AKX MWL =X

Stop stopwatch

R22




6 Reset stopwatch | AFE XLt 2|AIHES Sl 2EMIK| 2[A1(0:0:00)%|= | Reset stopwatch R23
test x|
7 Lap stopwatch AEXZLH HES X2 W, &X lap timeS 20| | Lap stopwatch R 24
test =X
(lap ZE) A ZHEZ =32 W, X AKX time
= B0 FEX|
8 Select alarm 471K e T MEHE SEO| 2tHZ HAFE=X| Select alarm number | R 3.1
number test
9 Remove alarm AT7FK| &Eh = MEHE| QF2E0| AK| | =X Remove alarm R 3.2
number test number
10 set alarm time AFE X7 A™ T A ZH0] A E| =X Set alarm time R 33
test
Mt A|ZH0] (23:59)Lf 0| A HHO| | =X
11 Turn on alarm 471K e & stLtete MEE O JCHH  indicator 7F | Turn on alarm R 34
test(indicator test) | 7{X|=X|
12 Turn off alarm test | 47tX| €& & M& =l 20| QICHH, indicator 7t 7HX| | Turn off alarm R 3.5




13 Set timer time test AHEXEZL XS st EFO|T A|ZHO] ME & =X set timer time R 4.1
14 Start timer test EfO|H 2| A[ZHO| ZAE|=X] Start timer R 42
CHE D EO|Ax EfO|M 7t 2S5 StA U=X|
AlZHO| Cf A S ZrASHK]| =X
15 Stop timer test EtO|D{2| A|ZHO| E}O|HE FX|}E W] A|ZHO| ZASHX| =X| Stop timer R 43
EfO|HO| A|ZHO| HX| AEHO|M CH2 BEZ HIR S [ AEf7 SX| &
=X]
16 Reset timer test EtO|{ 2| A|ZHO] 00:00:00 S 2 HHY=X| Reset timer R 44
17 Ringing test A8 XLl o] FAlof 22|=X| Ringing R 45




18 ChangeWorld B HHE Al Li2k=0f &= A2t HHY = X ChangeWorld R 5.1
19 Turn on bright control test incorrect?t 212 0f| o3| {X|X| =X Turn on brightness control | R 6.1
20 Turn off bright control test incorrect?t 2 H0f| 2|3l 7HX|X| Ri=X] Turn off brightness control | R 6.2
21 Control brightness test 271 22 3TA MM 0THA = HHY =X Control brightness R 6.3
22 Change brightness test AlZto] 2 7| =2 7|50 M2 2-SSt=X| Change brightness
23 Change SW test o|0] A+ &2l sw7} X M EHE|X| Q=X Change SW R 7.1

AT EQO] MEHO| MYMZO| YA S ME X

OFX[2 sw 2tHOM C HHES 32 I, X #HWf sw

2 F07h=X




Activity 2039 : Traceabllity Analysis
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)

Function
Requirements

>

‘Set country *  Set country —
Set year » Setyear =
Setmontn » Setmonmn =
Setaay + Setaay —
‘Set hour > Sethour e =
Set mnute > setmaute -
Set second » Set second i
Show current tme- * Show curent tme
Show current date *  Show current date
Change mode * Change mode
Stap ringing > Stop ninging =
‘Start stopwatch > Start stopwatch -
Stop stopwatch +  Stop stopwatch
Reset stopwatch * Reset stopwakch
Lap stopwatch *  Lap stopwaich ~
Selec! atam number +  Select alarm number
Remove alarm number * Remove alamm number
Set atarm time: *  Set atarm time. ~
Tum on atam (show indk. , Tumon alarm (show indk *  storeCurrentStopwatchTime:
ator) aton) N\ * selecthlamiium
Tum offatarm > Tumoff alarm + displayNamlumTime
Sol Wiy o6 + RN ~ removeAlarmNum
Stanttimer > Stattimer +» [selaciTime
Stop timer » Stop timer \ A » [ ioglayaalectrine
Reset tmer * Resettimer \ » owtE
Ring tmer + Ring tmer . ctopteyTiee
iy + (e unkly \ “ checkaamivm
‘Show wond date +  Show worid date \ " RanOnkinm’
Show worid time *  Show world time “ wmOnAlarmindicator
Tum on brightness control > Turn on brightness control < wmonAam
Setbogritness. * Set brightness startrover
Change SW * Changesw « [OacroaseTines
Select SW > SelectsW AR 4 checkTimer
\\ * storeTimer
* stopTimer
* resetTimer
*  getCurrentTimer
* ringingTimer
\ * check3Seconds
\ “ changeCountry
¥ displayNextCountry
" displayWorldDate
* displayWorldTime
* tumOnBC
* turnOnBCindicator
" checkBCIndicator
* twmOffBC
*  wmOffBCindicator
* controlBrightness
* checkSeason
+ checkDaylong
* changesw.
* displaysSW(On/Off, Name)
* selecsW
«  changeSelectedSW.

< displayActivatedsW

>,




Requirements
Set country

Set year

Set month

Set day

Set hour

Set minute

Set second

Show current time

Show current date

R

Set country

——» Setyear

—

—

—

Set month

Set day

Set hour

Set minute

Set second

Show current time

Show current date

System Operation

setDefaultSystem

~ —3» saveDefaultSystem

~_ displayCurrentTime

_y displayCurrnetDate

2/

=~

\S




)

Requirements
Change mode

Stop ringing

Start stopwatch

Stop stopwatch

Reset stopwatch

Lap stopwatch

Select alarm number
Remove alarm number
Set alarm time

Turn on alarm (show indic
ator)

Turn off alarm

o
Use Case
o,

e
Change mode

——* Stopringing
T " Startstopwatch
————* Stop stopwatch
——* Resetstopwatch
——* Lapstopwatch
—* Select alarm number
~* Remove alarm number

— " Setalamtime

» Tumon alarm (show indic
ator)

—— Turnoffalarm

System Operation

changeMode
displayNextMode
stopRinging
ringingStop
turnOffAlarmindicator
resetTimer
startStopwatch
displayStopwatchTime
stopStopwatch
resetStopwatch
lapStopwatch
displayLaptime
storeCurrentStopwatchTime
selectAlarmNum
displayAlarmNumTime
removeAlarmNum
selectTime
displaySelectTime
saveTime
displayTime
checkAlarmNum
turnOnAlarm
turnOnAlarmindicator
turnOffAlarm
turnOffAlarmindicator

>,

Va

AN




2\

Requirements

Set timer time

Start timer

Stop timer

Reset timer

Ring timer

Change country

Show world date

Show world time

Turn on brightness control
Turn off brightness control
Set brightness

Change SW

Select SW

Set timer time

Start timer

Stop timer

Reset timer

Ring timer

Change country

Show world date

Show world time:

Turn on brightness control
Turn off brightness control
Set brightness

Change SW

Select SW

System Operation

selectTime
displaySelectTime
saveTime
displayTime
startTimer
decreaseTimer
" checkTimer
> storeTimer

~» stopTimer
resetTimer
getCurrentTimer
ringingTimer
check3Seconds
changeCountry

. displayWorldDate
™ displayWoridTime
\‘ turnOnBC
* turnOnBCindicator
checkBClndicator

" wmofiec

SO * tumOffBClndicator

4 controlBrightness

RN
N, \\ “ checkDayLong
NN
. \\"I changeSW
% displaysSW(ON/OF, Name)
L selectsw
N
. changeSelectedSW
“ displayActivatedSW

7

\S

=




N

(7

S
Pk LI CF

L

N1

2/
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